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Question Type : MCQ
Question ID : 630680304728
Option 11D : 6306801185463
Option 2 ID : 6306801185462
Option 31D : 6306801185464
Option 4 ID : 6306801185461
Status : Answered
Chosen Option: 3
Marks : 2
Q.2 'gUre 312Nk el Fers fSiehetT! &1 hloTaT uahT 3mg?
Ans X 1. 31t P
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Question Type : MCQ
Question ID : 630680304723
Option 11D : 6306801185441
Option 2 ID : 6306801185444
Option 31D : 6306801185443
Option 4 1D : 6306801185442
Status : Answered
Chosen Option : 2
Marks : 2
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25 2. 7T ot
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Question Type : MCQ
Question ID : 630680304736
Option 1 ID : 6306801185496
Option 2 ID : 6306801185494
Option 31D : 6306801185495
Option 4 1D : 6306801185493
Status : Answered

Chosen Option :
Marks :

1
2




Q.4 'fRNT g1 TH0 ' AT IreprERET I aref Hiv.
Ans X 1.g==20

< 2. gured @t
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Question Type : MCQ
Question ID : 630680304735
Option 11D : 6306801185492
Option 2 ID : 6306801185489
Option 3 1D : 6306801185490
Option 4 ID : 6306801185491
Status : Answered
Chosen Option : 4
Marks : 2
Q.5 Ydh v Hreawiug SR Uy A gt ?
Ans X 1.9emR S0t
X 2. Sifrar
X 3. fRedetmror
W 4.8
Question Type : MCQ
Question ID : 630680304741
Option 11D : 6306801185514
Option 2 ID : 6306801185516
Option 31D : 6306801185513
Option 4 1D : 6306801185515
Status : Answered
Chosen Option : 4
Marks : 2
Q.6 ‘T welr gEadh Rl ! g1 wah siesan.
Ans X 1. gHIT ol
w 2. & -H e
X 3. 9
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Question Type : MCQ
Question ID : 630680304724
Option 1 ID : 6306801185446
Option 2 ID : 6306801185447
Option 31D : 6306801185448
Option 4 ID : 6306801185445
Status : Answered
Chosen Option: 2
Marks : 2
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Question Type : MCQ
Question ID : 630680304720
Option 11D : 6306801185431
Option 2 ID : 6306801185429
Option 31D : 6306801185432
Option 4 ID : 6306801185430
Status : Answered
Chosen Option: 3
Marks : 2
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Question Type : MCQ
Question ID : 630680304738
Option 11D : 6306801185501
Option 2 ID : 6306801185502
Option 31D : 6306801185503
Option 4 1D : 6306801185504
Status : Answered
Chosen Option : 4
Marks : 2
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Ans X 1. 3FEd
W 2. SR
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Question Type : MCQ
Question ID : 630680304729
Option 11D : 6306801185465
Option 2 ID : 6306801185466
Option 31D : 6306801185467
Option 4 1D : 6306801185468
Status : Answered
Chosen Option: 2
Marks : 2
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Question Type : MCQ
Question ID : 630680304727
Option 11D : 6306801185460
Option 2 ID : 6306801185457
Option 31D : 6306801185458
Option 4 ID : 6306801185459
Status : Answered
Chosen Option : 4
Marks : 2
Q.11 'dvufiwroft ' g1 hiorar 99 3 & siter.
Ans X 1. fqu<h! gy
X 2. dpfAF g5
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Question Type : MCQ
Question ID : 630680304731
Option 11D : 6306801185475
Option 2 ID : 6306801185474
Option 31D : 6306801185476
Option 4 1D : 6306801185473
Status : Answered
Chosen Option : 4
Marks : 2
Q.12 "¢’ ar 2rsgran FATTAT 2reg 2mtenm
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X 4. ST
Question Type : MCQ
Question ID : 630680304726
Option 11D : 6306801185454
Option 2 ID : 6306801185453
Option 31D : 6306801185456
Option 4 ID : 6306801185455
Status : Answered
Chosen Option: 1

Marks :

2
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X 2. FHuRY
X 3.2z
X 4.5
Question Type : MCQ
Question ID : 630680304730
Option 11D : 6306801185469
Option 2 ID : 6306801185471
Option 31D : 6306801185472
Option 4 ID : 6306801185470
Status : Answered
Chosen Option : 1
Marks : 2
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Question Type : MCQ
Question ID : 630680304733
Option 11D : 6306801185483
Option 21D : 6306801185484
Option 31D : 6306801185482
Option 4 ID : 6306801185481
Status : Answered
Chosen Option: 3
Marks : 2
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Ans X 1. amameff
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o 3. faremedf
X 4. 3grredt
Question Type : MCQ
Question ID : 630680304719
Option 11D : 6306801185425
Option 21D : 6306801185428
Option 31D : 6306801185426
Option 4 ID : 6306801185427
Status : Answered
Chosen Option: 3
Marks : 2
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Question Type :
Question ID :

Option 1 1D

Option 3 ID
Option 4 ID
Status

McQ
630680304734

: 6306801185487
Option 21D :

6306801185486

: 6306801185485
: 6306801185488
: Answered
Chosen Option :
Marks :

1
2
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X 3.39®
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Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680304725
6306801185451
6306801185449
6306801185450
6306801185452
Answered

4

2
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Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680304740
6306801185511
6306801185509
6306801185510
6306801185512
Answered

4

2
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Question Type : MCQ
Question ID : 630680304718
Option 11D : 6306801185422
Option 2 ID : 6306801185423
Option 31D : 6306801185421
Option 4 ID : 6306801185424
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680304739
Option 11D : 6306801185507
Option 2 ID : 6306801185505
Option 31D : 6306801185508
Option 4 1D : 6306801185506
Status : Answered
Chosen Option : 4
Marks : 0
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Question Type : MCQ
Question ID : 630680304742
Option 11D : 6306801185518
Option 2 ID : 6306801185520
Option 31D : 6306801185519
Option 4 1D : 6306801185517
Status : Answered
Chosen Option: 3
Marks : 2
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Question Type : MCQ
Question ID : 630680304721
Option 11D : 6306801185434
Option 2 ID : 6306801185433
Option 3 1D : 6306801185435
Option 4 ID : 6306801185436
Status : Answered
Chosen Option : 1
Marks : 2
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Question Type : MCQ
Question ID : 630680304722
Option 11D : 6306801185439
Option 2 ID : 6306801185440
Option 31D : 6306801185438
Option 4 1D : 6306801185437
Status : Answered
Chosen Option: 3
Marks : 2
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Question Type : MCQ
Question ID : 630680304732
Option 11D : 6306801185478
Option 2 ID : 6306801185480
Option 31D : 6306801185479
Option 4 1D : 6306801185477
Status : Answered
Chosen Option: 2
Marks : 2
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Question Type : MCQ
Question ID : 630680304737
Option 11D : 6306801185499
Option 2 ID : 6306801185498
Option 31D : 6306801185497
Option 4 1D : 6306801185500
Status : Answered
Chosen Option : 2
Marks : 2
Section : English Language
Q.1 Select the most appropriate adjective to fill in the blanks for the given sentence:
Sheispretty____ for everybody to notice her.
Ans 4 1.enough
X 2.too much
75 3.very much
5 4.much
Question Type : MCQ
Question ID : 630680353847
Option 11D : 6306801377461
Option 2 ID : 6306801377462
Option 31D : 6306801377464
Option 4 ID : 6306801377463
Status : Answered
Chosen Option : 1
Marks : 2
Q.2 Select the most appropriate SYNONYM of the given word:
Belligerently
Ans X 1.Lavishly
X 2. Generously
/< 3. Liberally
%" 4. Grudgingly
Question Type : MCQ
Question ID : 630680353845
Option 11D : 6306801377456
Option 2 ID : 6306801377453
Option 31D : 6306801377454
Option 4 ID : 6306801377455
Status : Answered

Chosen Option :
Marks :

1
0




Q.3 Select the appropriate article from the below options to complete the sentence. Mark “No

article” if there is no requirement of article in the given sentence.

We stayed at a very nice hotel, | can't remember _______ name now.
Ans X 1.a
o 2. the
< 3. No article
X 4.an
Question Type : MCQ
Question ID : 630680353837
Option 11D : 6306801377421
Option 2 ID : 6306801377422
Option 31D : 6306801377424
Option 41D : 6306801377423
Status : Answered
Chosen Option : 2
Marks : 2
Q.4 Select the correct punctuation from the below options to complete the below sentence.
Mary said | wanted to play outside
Ans X 1. Mary said- "l wanted to play outside."!!
75 2. "Mary said, "l wanted to play outside."
/5 3. Mary said; "l wanted to play outside."
w# 4. Mary said, "l wanted to play outside.”
Question Type : MCQ
Question ID : 630680353824
Option 11D : 6306801377370
Option 2 ID : 6306801377372
Option 31D : 6306801377369
Option 4 ID : 6306801377371
Status : Answered
Chosen Option : 4
Marks : 2
Q.5 Select the most appropriate meaning of the Idiom below.
“All ears “
Ans 4" 1. To listen intently, devoting one's full attention to someone
25 2. Not interested in listening to anybody
/X 3.Someone who doesn’t want to listen to others at all
5 4. Someone who keeps talking and doesn't listen to others
Question Type : MCQ
Question ID : 630680353842
Option 11D : 6306801377442
Option 2 ID : 6306801377441
Option 3 ID : 6306801377444
Option 4 ID : 6306801377443
Status : Answered
Chosen Option : 1
Marks : 2




Q.6 Select the most appropriate SYNONYM of the given word:

Adamant
Ans X 1.agreeable

< 2. compliant
/X 3. flexible
## 4. stubborn

Question Type : MCQ
Question ID : 630680353843
Option 11D : 6306801377447
Option 2 ID : 6306801377448
Option 31D : 6306801377445
Option 4 ID : 6306801377446
Status : Answered
Chosen Option : 4
Marks : 2
Q.7 Read the following statement and fill in the gaps using correct question tags.
Jim should pass the exam, ?
Ans X 1.doesn'the
X 2.isn'the
% 3. shouldn't he
25 4. couldn't he
Question Type : MCQ
Question ID : 630680353825
Option 1 ID : 6306801377374
Option 2 ID : 6306801377376
Option 31D : 6306801377375
Option 4 1D : 6306801377373
Status : Answered
Chosen Option: 3
Marks : 2
Q.8 Select the underlined word or phrase that needs to be changed to make the sentence
correct. Some sentences contain no errors at all.
When he talked to us, he sounds nervous.
Ans 4" 1. sounds
< 2. talked
/< 3.nervous
75 4. No error
Question Type : MCQ
Question ID : 630680353835
Option 11D : 6306801377415
Option 2 ID : 6306801377413
Option 31D : 6306801377416
Option 4 1D : 6306801377414
Status : Answered
Chosen Option: 1
Marks : 2




Q.9 Select the appropriate article from the below options to complete the sentence.
Mark “No article” if there is no requirement of article in the given sentence.How often do

you go to cinema? Three or four times a year.
Ans X 1.an
< 2. No article
X 3.a
o 4. the
Question Type : MCQ
Question ID : 630680353836
Option 11D : 6306801377420
Option 2 ID : 6306801377419
Option 31D : 6306801377418
Option 41D : 6306801377417
Status : Answered
Chosen Option : 4
Marks : 2
Q.10 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options:
She had been waited for her father to come from the hospital.
Ans X 1.come
¥ 2. waited
/< 3.had been
X 4. for
Question Type : MCQ
Question ID : 630680353828
Option 11D : 6306801377387
Option 2 ID : 6306801377385
Option 3 ID : 6306801377386
Option 4 ID : 6306801377388
Status : Answered
Chosen Option : 2
Marks : 2
Q.11 Select the most appropriate form of tense from the given option to fill in the blanks for the
given sentence:
Mahesh used to poems during his college days.
Ans o 1. write
X 2. wrote
X 3. Had written
75 4. Had writing
Question Type : MCQ
Question ID : 630680353829
Option 11D : 6306801377389
Option 2 1D : 6306801377390
Option 3 ID : 6306801377392
Option 4 ID : 6306801377391
Status : Answered
Chosen Option : 1
Marks : 2




Q.12 The following sentence has been divided into parts. One of them may contain an error.

Select the part that contains the error from the given options:
It's a nice day. | suggests we go out for a walk.

Ans X 1.go
X 2. walk
o 3. suggests
X 4.1t's
Question Type : MCQ
Question ID : 630680353827
Option 11D : 6306801377382
Option 2 1D : 6306801377383
Option 31D : 6306801377384
Option 4 1D : 6306801377381
Status : Answered
Chosen Option: 3
Marks : 2
Q.13 Choose the correct option from below that spells the word in bold correctly:
The zeal and commitment of companies in promoting their products are commendable, but
there are a few who deceive their customers with harmful ingredients that can be dangerous
to one's life.
Ans X 1.committmentt
" 2. commitment
25 3. comittment
X 4. comitmentt
Question Type : MCQ
Question ID : 630680353839
Option 11D : 6306801377431
Option 2 ID : 6306801377432
Option 31D : 6306801377430
Option 4 ID : 6306801377429
Status : Answered
Chosen Option : 2
Marks : 2
Q.14 Select the most appropriate options from below which changes the following active
sentences into passive voice.
The professor told him not to talk in class.
Ans X 1. He has been talking a lot in the class that is why he was told by the professor not to
talk.
X 2. He talks a lot; he was told by professor not to talk.
Z< 3.Inthe class he was told by the professor not to talk.
w# 4. He was told not to talk in class by the professor.
Question Type : MCQ
Question ID : 630680353831
Option 11D : 6306801377399
Option 2 ID : 6306801377400
Option 31D : 6306801377397
Option 4 1D : 6306801377398
Status : Answered
Chosen Option : 4
Marks : 2




Q.15 Read the following statement and fill in the gaps using correct question tags.
Tom wasn't so nice, ?

Ans X 1. Were he
25 2. Will he
" 3. Was he
/< 4. Could it
Question Type : MCQ
Question ID : 630680353826
Option 11D : 6306801377377
Option 2 ID : 6306801377379
Option 31D : 6306801377378
Option 4 1D : 6306801377380
Status : Answered
Chosen Option: 3
Marks : 2
Q.16 Select the underlined word or phrase that needs to be changed to make the sentence
correct. Some sentences contain no errors at all.
To avoid procrastination, you should makes plans.
Ans X 1.to
o 2. makes
/< 3.avoid
/X 4. procrastination
Question Type : MCQ
Question ID : 630680353834
Option 11D : 6306801377412
Option 2 1D : 6306801377409
Option 3 ID : 6306801377411
Option 4 1D : 6306801377410
Status : Answered
Chosen Option : 2
Marks : 2
Q.17 Select the most appropriate meaning of the proverb below.
“A journey of a thousand miles begins with a single step “
Ans X 1. Go with the flow
o 2. Itis necessary to take the first step to reach your goal
/X 3.1tis not necessary to take the first step you will reach the destination anyway
Z5 4. No all the things needs to be planned to achieve your goal
Question Type : MCQ
Question ID : 630680353840
Option 11D : 6306801377436
Option 2 ID : 6306801377433
Option 31D : 6306801377434
Option 4 ID : 6306801377435
Status : Answered
Chosen Option : 2
Marks : 2




Q.18 Select the most appropriate preposition from the given option to fill in the blanks for the

given sentence:
I learnt to drive

Ans i 1.in
X 2. by
X 3.0on
X 4. at
Question Type : MCQ
Question ID : 630680353833
Option 11D : 6306801377408
Option 2 ID : 6306801377405
Option 31D : 6306801377406
Option 41D : 6306801377407
Status : Answered
Chosen Option : 1
Marks : 2
Q.19 Select the most appropriate meaning of the idiom below.
“A fish out of water “
Ans X 1.Someone in a desirable situation
75 2. Someone in a relaxed and progressive situation
/5 3. Someone in an extremely comfortable situation
w# 4. Someone in an uncomfortable position or situation
Question Type : MCQ
Question ID : 630680353841
Option 11D : 6306801377438
Option 2 ID : 6306801377440
Option 3 ID : 6306801377437
Option 4 1D : 6306801377439
Status : Answered
Chosen Option : 4
Marks : 2
Q.20 Select the word from the below sentence which has been misspelt.
Small and Medium Enterprises (SMEs) play a signifecant role in preserving traditional
cultures and crafts.
Ans X 1.preserving
/< 2. traditional
< 3. enterprises
o 4. signifecant
Question Type : MCQ
Question ID : 630680353838
Option 11D : 6306801377426
Option 2 ID : 6306801377427
Option 31D : 6306801377425
Option 41D : 6306801377428
Status : Answered
Chosen Option : 4
Marks : 2




Q.21 Select the most appropriate adjective to fill in the blanks for the given sentence:

lam short to play basketball.
Ans " 1.1t00
X 2. very
/< 3.indeed
< 4. being
Question Type : MCQ
Question ID : 630680353846
Option 11D : 6306801377459
Option 2 ID : 6306801377457
Option 31D : 6306801377458
Option 4 ID : 6306801377460
Status : Answered
Chosen Option : 1
Marks : 2
Q.22 Select the correct punctuation from the below options to complete the below sentence.
He said | saw her the day before yesterday
Ans X 1."“He said, | saw her the day before yesterday"!
/5 2. He said | saw her the day before yesterday!!
% 3. He said, "l saw her the day before yesterday.”
25 4. He said; | saw her the day before yesterday?!
Question Type : MCQ
Question ID : 630680353823
Option 11D : 6306801377368
Option 2 1D : 6306801377367
Option 31D : 6306801377365
Option 4 1D : 6306801377366
Status : Answered
Chosen Option: 3
Marks : 2
Q.23 Select the most appropriate options from below which changes the following active
sentences into passive voice.
The Wills have built the large house.
Ans X 1.The large house was being builded by the wills.
75 2. The wills is the builders of the large house.
/X 3. They have built the large house.
w#" 4. The large house has been built by the Wills.
Question Type : MCQ
Question ID : 630680353830
Option 11D : 6306801377394
Option 2 ID : 6306801377396
Option 31D : 6306801377393
Option 4 ID : 6306801377395
Status : Answered
Chosen Option : 4
Marks : 2




Q.24 Select the most appropriate preposition from the given option to fill in the blanks for the

given sentence:
We travelled overnight to Paris and arrived

5'oclock in the morning.

Ans 1 at
X 2.0on
< 3.by
X 4.+l
Question Type : MCQ
Question ID : 630680353832
Option 11D : 6306801377402
Option 2 1D : 6306801377403
Option 31D : 6306801377401
Option 41D : 6306801377404
Status : Answered
Chosen Option : 1
Marks : 2
Q.25 Select the most appropriate SYNONYM of the given word:
Apparent
Ans X 1.actual
75 2. Unlikely
/< 3. Hidden
w# 4. presumed
Question Type : MCQ
Question ID : 630680353844
Option 11D : 6306801377451
Option 2 ID : 6306801377450
Option 3 ID : 6306801377449
Option 4 1D : 6306801377452
Status : Answered
Chosen Option: 3
Marks : 0
Section : General Knowledge
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Question Type : MCQ
Question ID : 630680353850
Option 1 ID : 6306801377476
Option 2 ID : 6306801377473
Option 31D : 6306801377475
Option 4 ID : 6306801377474
Status : Answered
Chosen Option : 3
Marks : 0
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Ans X 1. 9Ra 3for urfehear
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X 4. 9Ra 3nfor iR oA

Question Type :
Question ID :

Option 1 1D

Option 3 ID
Option 4 ID
Status

McQ
630680353857

: 6306801377501
Option 21D :
: 6306801377502
: 6306801377503
: Answered
Chosen Option :
Marks :

6306801377504

2
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Ans X 1.9

X 2. anfsam
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Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680353858
6306801377507
6306801377508
6306801377505
6306801377506
Answered

3

2
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Ans X 1. 3m@RaAr

W 2. 318
X 3.%her
X 4. 3maefs

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680353864
6306801377532
6306801377531
6306801377530
6306801377529
Answered

2
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Wi 3. TS AT (1923)
X 4. ez Sifdder (1924)

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680353856
6306801377497
6306801377499
6306801377498
6306801377500
Answered

3

2

Q.6 SRBIRIGR 319 FEUM HIvIA AaTeT ATIRS SI1A?

Ans

X 1. Arers
25 2. 3wt

X 3. st
o 4. FARCT

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 3 ID
Option 4 ID

Status :

Chosen Option :

Marks :

McCQ
630680353866
6306801377537
6306801377540

: 6306801377538
: 6306801377539

Answered
1
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w1119
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3. 20 iR
X 4. 25 SHaR

Question Type :
Question ID :
Option 1 ID
Option 2 1D :
Option 3 ID
Option 4 ID

Status :

Chosen Option :

Marks :

McCQ
630680353861

: 6306801377518

6306801377517

: 6306801377519
1 6306801377520

Answered
1
2




Q.8 SNk ary UTET 3igaret 2023 JUR, Hafa Rgpe ary qureasn REsnes sraaear dar=m

FrED YRATHT shHieh fhear 3mg?
Ans X 1. drEr
75 2.9
/X 3. ufgem
w 4. smadn
Question Type : MCQ
Question ID : 630680353849
Option 11D : 6306801377471
Option 21D : 6306801377470
Option 31D : 6306801377469
Option 4 ID : 6306801377472
Status : Answered
Chosen Option : 4
Marks : 2
Q.9 On the basis of the recommendations of which of the following committee, the provision
related to fundamental duty has been included in the constitution?
Ans X 1. Ayyangar Committee
o 2. Swarn Singh Committee
/X 3. Sachar Commission
< 4. Balwant rai Mehta Committee
Question Type : MCQ
Question ID : 630680353862
Option 11D : 6306801377522
Option 2 ID : 6306801377523
Option 31D : 6306801377524
Option 4 ID : 6306801377521
Status : Answered
Chosen Option : 2
Marks : 2
Q.10 Hidw=T RvrT AT R Arammed AR’ g1 2Teg SHSvaTd 31Tl gar?
Ans X 1. STITETETE SHfEaRM (1888)
X 2. Hqag arfdder (1885)
X 3. 7y fdas (1898)
o 4. TR SAfAAIAT (1891)
Question Type : MCQ
Question ID : 630680353855
Option 11D : 6306801377495
Option 2 ID : 6306801377494
Option 31D : 6306801377496
Option 4 ID : 6306801377493
Status : Answered
Chosen Option: 1
Marks : 0




Q.11 Fundamental rights are mentioned in which part of the constitution?

Ans X 1.Part-Vl

X 2. Part-ll
o 3. Part-ll
X 4. Part-lV
Question Type : MCQ
Question ID : 630680353863
Option 11D : 6306801377528
Option 2 ID : 6306801377527
Option 31D : 6306801377525
Option 4 ID : 6306801377526
Status : Answered
Chosen Option: 3
Marks : 2
Q.12 HIvTeT S=hIY ST ATg g AR 3 gid?
Ans X 1. faer ame
X 2. e
o 3. Wit qaTE TR
X 4. orfde gy
Question Type : MCQ
Question ID : 630680353854
Option 11D : 6306801377491
Option 2 ID : 6306801377489
Option 31D : 6306801377490
Option 4 ID : 6306801377492
Status : Answered
Chosen Option: 3
Marks : 2
Q.13 #rfgd=n sifdepr rfafaam, 2005 e ufge srfier fereft feagia fAerTet Sreet SITa?
Ans X 1.20 feew
X 2,15 fRaw
X 3.25fag
& 4. 30 feaw
Question Type : MCQ
Question ID : 630680353871
Option 11D : 6306801377558
Option 2 ID : 6306801377557
Option 31D : 6306801377559
Option 4 ID : 6306801377560
Status : Answered
Chosen Option : 4
Marks : 2




Q.14 Which of the following is called the brain of the computer?
Ans X 1.Hard Disk

o 2. CPU
< 3. Monitor
X 4.RAM

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680353872
6306801377563
6306801377561
6306801377564
6306801377562
Answered

2

2

Q.15 2011 =T SFRIVFIER, WTefieTteh! ThIvTd I5T § ATeRAd Gaifie eahar sreeeT ufgear ara

Irsaidehl Teh ATE?
Ans 1 ERES
X 2.
X 3. Fga
X 4. fsim
Question Type : MCQ
Question ID : 630680353860
Option 1 ID : 6306801377516
Option 2 ID : 6306801377515
Option 31D : 6306801377514
Option 41D : 6306801377513
Status : Answered
Chosen Option : 1
Marks : 2
Q.16 IrsaT=AT H&A Alfgd! STg<hid! fAg<h! SIoTehg dhell STIA?
Ans X 1. mfgdt g vmRor it
X 2. gt
¥ 3. TSUuT
X 4. daga=
Question Type : MCQ
Question ID : 630680353870
Option 1 ID : 6306801377556
Option 21D : 6306801377553
Option 31D : 6306801377555
Option 4 ID : 6306801377554
Status : Answered
Chosen Option: 3
Marks : 2




Q.17 ‘RafiT g 3R deer’ @ Y& Fivrear @ergA fAfgs amg?
Ans & 1. 99 dfcas

X 2. 9faa dgeraR
X 3. i reeR?
X 4 wfuea
Question Type : MCQ
Question ID : 630680353848
Option 11D : 6306801377468
Option 2 ID : 6306801377466
Option 3 1D : 6306801377467
Option 4 ID : 6306801377465
Status : Answered
Chosen Option : 1
Marks : 2
Q.18 2Ntk AT AT hivreT auff dheft A+i1?
Ans X 1.89.1871
X 2.39.1867
" 3.39.1873
X 4.349.1872
Question Type : MCQ
Question ID : 630680353853
Option 11D : 6306801377486
Option 2 ID : 6306801377485
Option 31D : 6306801377488
Option 4 1D : 6306801377487
Status : Answered
Chosen Option: 3
Marks : 2
Q.19 ‘HT=F’ §T 2AsE HIUTAT UG Seel 7T HTR?
Ans o 1. ol
X 2.%ha
X 3.offes
X 4. ofdf
Question Type : MCQ
Question ID : 630680353859
Option 11D : 6306801377510
Option 2 ID : 6306801377509
Option 31D : 6306801377512
Option 4 1D : 6306801377511
Status : Answered

Chosen Option :
Marks :

1
2




Q.20 Herd Jar AT WU Ftorear aoff dheft Aft?
Ans X 1.59.1898

X 2.349.1904
w# 3.59.1908
25 4.39.1910

Option 11D

Option 3 ID
Option 4 ID

Question Type :
Question ID :

: 6306801377546
Option 21D :
: 6306801377547
: 6306801377548
Status:

Chosen Option :
Marks :

McCQ
630680353868

6306801377545

Answered

2
0

Q.21 TFAIR=H dexiFet WehfAd heledl YETAR SHTeheT [RE2rieh 2022 (FRF URAWA 399
2022) qed WRATT shHieh foherar smmg?

Ans g7 85ar
X 2.90am
X 3.84ar
X 4.100ar

Option 2 ID

Option 4 ID

Question Type :
Question ID :
Option 11D :

McQ
630680353852
6306801377482

: 6306801377481
Option 31D :

6306801377483

: 6306801377484
Status:
Chosen Option :
Marks :

Answered
1
2

Q.22 a1es TR Reseh duTlia ahve sreiet AR1SY WTseier e g=os wivra gia?
Ans o 1. GEd

X 2. sffegreR

X 3. 1R fegem

X 4. et

Option 1 ID
Option 2 ID

Option 4 ID

Question Type :

Question ID :
: 6306801377549
: 6306801377551
Option 31D :

McQ
630680353869

6306801377552

: 6306801377550
Status:
Chosen Option :
Marks :

Answered
1
2




Q.23 URIAHSATUT gloar=IT Sherash 3

Ans o 1. Tk fegar
X 2.
X 3. fgarema
X A e

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680353867
6306801377541
6306801377542
6306801377544
6306801377543
Answered

1

2

Q.24 gat=a ArTeaR sl ad Afgei=n RS a srefiR mfurarar fer e ong. gai=

SifdepR et emga?
Ans X 1. 3/g 29
X 2. a9 25
X 3.9 g=e 15
.‘p\“4. 343@?:1 21
Question Type : MCQ
Question ID : 630680353851
Option 11D : 6306801377479
Option 2 ID : 6306801377478
Option 31D : 6306801377480
Option 4 ID : 6306801377477
Status : Answered
Chosen Option : 4
Marks : 2
Q.25 What is the chemical name of vitamin B11?
Ans 4" 1. Folic Acid
#< 2. Thiamine
< 3. Riboflavin
/X 4. Biotin
Question Type : MCQ
Question ID : 630680353865
Option 11D : 6306801377535
Option 2 ID : 6306801377534
Option 3 ID : 6306801377536
Option 4 ID : 6306801377533
Status : Answered
Chosen Option : 1
Marks : 2

Section : General Intelligence




Q.1 TETd 7 IHUIRT S 3iisl.
Ans X 1. 3m9H

X 2. Burerm

W 3. Aerglu
5 4. usTra

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680353882
6306801377603
6306801377601
6306801377602
6306801377604
Answered

3

2

Q.2 e ueTaeia SRy am: 4(10+15/5%4-4%4)
Ans X 1.26

X 2.42
% 3.32
o 4.24

\

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680353886
6306801377619
6306801377617
6306801377620
6306801377618
Answered

4

2

Q.3 If all the numbers are dropped in the given series, which of the following is fifth from the

right?
A#DFG%"& *E70&6"4Z5*39TID#2SUZ@6Y%N&

Ans 1@
X 2u
X3y
XaT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680353878
6306801377587
6306801377586
6306801377585
6306801377588
Answered

1

2




Q.4 U Tehl WIURUOY 7 aT9id WRA. Sicgl faean aasTgA sl g1, Agl oft “RuaTy 8 a1¥ wnTare. SR

eTeh! gof sl 318, @) el Aear et srermaehia ot Reprt gider?

Ans X 1.112d9
X 2.28d
W 3. 56 A E
X 4.49a9
Question Type : MCQ
Question ID : 630680353897
Option 11D : 6306801377663
Option 2 1D : 6306801377662
Option 31D : 6306801377661
Option 4 ID : 6306801377664
Status : Answered
Chosen Option: 3
Marks : 2
Q.5 TR %1200 ft gea 3 aufardt 7.5% &= sdhAed 3a T ST Shel, aR ATaR fAssom=ar
TRSATSITHY TUTT e,
Ans X 1.120
< 2.300
< 3.250
.,,f 4.270
Question Type : MCQ
Question ID : 630680353893
Option 11D : 6306801377647
Option 2 ID : 6306801377646
Option 31D : 6306801377645
Option 4 ID : 6306801377648
Status : Answered
Chosen Option : 4
Marks : 2

Q.6 ek garhl 7 forex uAmed 560 km 3iaR UR &vd, @R <t 5 forex Summied fahedt siar ur @ver?

Ans

2 1.250 Km
7 2.300 Km
< 3.350 Km
& 4.400 Km

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680353888
6306801377626
6306801377627
6306801377628
6306801377625
Answered

4

2




Q.7 3,15,51,159....2

usifRgrear St domst dear St srder?

Ans X 1.486

X 2.482
W 3.483
< 4.488
Question Type : MCQ
Question ID : 630680353884
Option 11D : 6306801377611
Option 2 ID : 6306801377610
Option 3 1D : 6306801377609
Option 41D : 6306801377612
Status : Answered
Chosen Option: 3
Marks : 2
Q.8 = usia, + U - 38, x FEUST / 38, - FEUIS! + ¥ SO / FUTS x 1€, AR Wiefied
TTS IR e
(112x 8) x 2/4
Ans X 1.29
X227
W 3.28
X 4.31
Question Type : MCQ
Question ID : 630680353885
Option 11D : 6306801377614
Option 2 1D : 6306801377616
Option 31D : 6306801377613
Option 4 ID : 6306801377615
Status : Answered
Chosen Option: 3
Marks : 2
Q.9 Al,BJ,CK,DL,?
uzifgrear SRl 2o sreR-SiE Fiordt s e?
Ans o 1. EM
X 2.FM
X 3.MF
X 4. ME
Question Type : MCQ
Question ID : 630680353875
Option 11D : 6306801377573
Option 2 ID : 6306801377574
Option 3 ID : 6306801377575
Option 4 1D : 6306801377576
Status : Answered
Chosen Option : 1
Marks : 2




Q.10 Qeh IS Tehl WiaTH 25 Yeheid UR hed, SR e S et 750 Hier 3@, ar e a1

orte.
Ans X 1.40 m/sec.
75 2.20 m/sec.
/< 3.10 m/sec.
o 4. 30 m/sec.
Question Type : MCQ
Question ID : 630680353894
Option 11D : 6306801377652
Option 2 ID : 6306801377650
Option 31D : 6306801377649
Option 4 ID : 6306801377651
Status : Answered
Chosen Option : 4
Marks : 2
Q.11 10 T TR 5 3118 SR T Tt Ui 8 7 uret ax T TR fohet srde?
Ans o 1.40
X242
< 3.38
X 4.46
Question Type : MCQ
Question ID : 630680353889
Option 11D : 6306801377631
Option 2 1D : 6306801377629
Option 3 ID : 6306801377630
Option 4 ID : 6306801377632
Status : Answered
Chosen Option : 1
Marks : 2
Q.12 =R fafthea : @& enarw - geafafea: ?
usifR=grear St SRivrdr Qe Ade?
Ans X 1. Hg@T oI
25 2. gt st
W 3. T ST
27X 4. o=t svarg
Question Type : MCQ
Question ID : 630680353880
Option 11D : 6306801377595
Option 2 1D : 6306801377593
Option 31D : 6306801377594
Option 4 ID : 6306801377596
Status : Answered
Chosen Option: 3
Marks : 2




Q.13 W & 3MTehRT2r 20 Rawia guf &< erepat, d= s faeper 15 fadia gof &< 2rerat. @ it

QoRa fAgeT 5 feae o et STIfoY #9T SfTeRTer & o HigH . franrera IdRa s gof

FRUTTETS} fohelt Trermacht erler?
Ans o 1.6.25 fRag
X 2.7.5Ram
X 3.45Rag
X 4.5.25faa
Question Type : MCQ
Question ID : 630680353896
Option 11D : 6306801377659
Option 2 ID : 6306801377660
Option 31D : 6306801377657
Option 4 ID : 6306801377658
Status : Answered
Chosen Option : 1
Marks : 2
Q.14 Uehl g=aTeT=h 2387 1 fasht heamar 3T=ie1T 10% dier gidl. a=urer Je fohaa ontar (R 7ed).
Ans X 1.287
X 2.330
X 3.327
W 4.430
Question Type : MCQ
Question ID : 630680353890
Option 11D : 6306801377633
Option 2 ID : 6306801377635
Option 31D : 6306801377634
Option 4 ID : 6306801377636
Status : Answered
Chosen Option : 4
Marks : 2
Q.15 29.92%4.2+22.28*5.4 A geq 3R,
Ans o 1.245.97
X 2.225.23
/< 3.230.82
#< 4.345.25
Question Type : MCQ
Question ID : 630680353887
Option 11D : 6306801377623
Option 21D : 6306801377621
Option 31D : 6306801377624
Option 4 ID : 6306801377622
Status : Answered
Chosen Option: 3
Marks : 0




Q.16 31fAd g1 = Siffhamed 15 km/h =1 3R =1era w11 10 fAfAR 3RRT dighaat. gdie aeh at
arET a9 5 km/h A areadl, gor a8 @t 5 A 3R giga sraeur @ sewa. e

ERTIRI T2 SR fheft siermar ema?
Ans X 1.15km
25 2.10km
o 3. 5km
X 4.20km
Question Type : MCQ
Question ID : 630680353895
Option 11D : 6306801377654
Option 2 ID : 6306801377655
Option 31D : 6306801377656
Option 4 ID : 6306801377653
Status : Answered
Chosen Option: 3
Marks : 2
Q.17 B,D,FLLRTY,?
usifRgrean SInfl AuIR 318R Hivra 3rer?
Ans X 1.F
X 2.E
X 3.cC
w4
Question Type : MCQ
Question ID : 630680353877
Option 1 ID : 6306801377583
Option 2 ID : 6306801377582
Option 3 ID : 6306801377584
Option 4 ID : 6306801377581
Status : Answered
Chosen Option : 4
Marks : 2
Q.18 TTeTd 7 SIHUIRT A il
Ans X 1.@fSiferr
X 2. R
X 3.3
o 4. STTR
Question Type : MCQ
Question ID : 630680353881
Option 11D : 6306801377600
Option 2 ID : 6306801377599
Option 3 ID : 6306801377597
Option 4 ID : 6306801377598
Status : Answered
Chosen Option : 1
Marks : 0




Q.19 g fRAa™ el enda, STiiar 1, 2 sAiam 9 At i enga. fReeh ffram™ & amm=agot

9 axgideft FTht SR Sieee, A9 ot T g o el e, R Arsmufahr

ahivrar/a fAsepe fetea faemmisft adhema sng/emgd & o<ar.

faem:
ud Hith 32T SR,
el 32 i smed.

foreend:
1. formT= 1t A% § At sravarh gen 2R omg.
2. Frgt geaf 32w smad.

Ans X 1.1 fohar 2 ARt Uahg! dehiTTd ATet
X 2. % 1 IheTd o8
W 3.1 301 2 2 e S
X 4. s 2 ThETd T8

Question Type :
: 630680353874
: 6306801377572
: 6306801377571
Option 31D :
Option 41D :
Status :
Chosen Option :
Marks :

Question ID
Option 1 ID
Option 2 ID

MCQ

6306801377569
6306801377570
Answered

4

0

Q.20 ka9 I uge:?
yfR=grean Sirft shiordr ereg ae?

Ans X 1.9eRA
X 2. gt
X 3. dames

W 4. fo=grrs

Question Type :
Question ID :

: 6306801377591
: 6306801377592
: 6306801377589
Option 41D :
Status :

Chosen Option :
Marks :

Option 1 ID
Option 2 ID
Option 3 ID

McQ
630680353879

6306801377590
Answered

4

2




Q.21 GRAAM ek TeATepelt T650 ST fAehet 31mfoY far 30% dter gare. 30% T Reavarad faa

Ans

hiureat fhaeie faepet uifgs?
X 1.1260.14
X 2.1408.24
X 3.1426.56
W 4.1207.14

Question Type :
Question ID :
Option 11D :

Option 2 ID

Option 4 ID

McQ
630680353891
6306801377639

: 6306801377638
Option 31D :

6306801377640

: 6306801377637
Status :
Chosen Option :
Marks :

Answered
4
2

Q.22 %6200 TAT ¥hHGR Tshdla AT TATA 10% ZTH ATk TUHTIR 2 guid Ao Tshaie

Ans

=TT (Cl) e,
< 1.1428
X 2.2258

o 3. 1302
X 4.1360

Question Type :
Question ID :
Option 11D :

Option 2 ID
Option 3 1D

McQ
630680353892
6306801377643

: 6306801377644
: 6306801377641
Option 4 1D :
Status :

Chosen Option :
Marks :

6306801377642
Answered

3

2




Q.23 g fRAu™ el anda, Sai=iar 1, 2 sAiem 9 At i enga. e ffram™ & amm=agot
9 axideft FTh SR Siee, A9 ot T g o Tl e, Rdeun Arsrufahr
ot/ fserd Rdear faem=izht adheme sng/smad & s
faem:

T ugd ey .
T 9l ugds smad.

foren:
1. 9 99 iy amad.
2. O i U M.

Ans o 1. a1 THETT ST
X 2. %aes 2 ahHTI TR
< 3.1 anfor 2 =t achaa smad
X 4.1 fohar 2 Ot wepg! dehea ATet

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680353873
6306801377567
6306801377566
6306801377565
6306801377568
Answered

1

2

Q.24 120,99, 80, 63, 48, 35, 24, ?
usifRgrear St domdt T ot erder?

Ans X 1.18
X 2.1

w315
X 4.13

Option 1 ID
Option 2 ID

Question Type :
Question ID :

: 6306801377605
: 6306801377608
Option 31D :
Option 4 1D :
Status :

Chosen Option :
Marks :

McQ
630680353883

6306801377606
6306801377607
Answered

3

2




Q.25 Z,U,Q,N,
usifRgrear

Ans

W 1.K
X 2J
K 3Mm
X 4.0

L?
St AUTR &R HoT rdeT?

Question Type

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :
Marks :

: MCQ

630680353876
6306801377579
6306801377580
6306801377577
6306801377578
Answered

1

2




